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Performance Measurement
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Difficulties for Students

Financial performance indicators

⚫ Ratio calculation

⚫ Analysis

Non-financial performance indicators

“Well performed!”

“Merely performed…”

“Lack of confidence…”
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Performance Measurement
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Private Sector Context

Profitability

ROCE

Liquidity

Current ratio

Quick ratio

Inventory period

Receivables period

Payable period

Risk

Financial gearing

Operational gearing
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Teaching Strategies

⚫

⚫ BT, MA, FA + & 

ratio

ratio
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Teaching example: ROCE

Level 1: (calculation)

ROCE = 
net profit

Capital employed
× 100%

Level 2: (logic)

ROCE = 
net profit

Capital employed
× 100%

net profit PBIT vs PAT vs controllable profit(controllability)

capital employed 

non-current asset + current asset – current liability

equity + long-term debt

working capital + non-current asset

investment
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Teaching example: ROCE

ROCE = net profit margin asset turnover

Net profit margin = 
net profit
Turnover

× 100%

Asset turnover = 
Turnover

Capital employed

How efficiently turn revenue into profit.

How efficiently generate revenue from investment.
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Teaching example: ROCE

Level 3:

PBIT = revenue – cost

⚫ ( PBIT ) specific methods + risk

⚫ Eg: revenue: marketing + cost

⚫ cost: R&D + competitive advantage 

CE = NCA + CA – CL(depreciation)
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Teaching example: ROCE

ROCE = net profit margin asset turnover

Net profit margin = 
net profit
Turnover

× 100%

A high net profit margin indicates that either sales prices are high or total costs are well controlled.

Asset turnover = in turnover or a decrease in capital employed. 

Eg, marketing activities o
Turnover

Capital employed

An increase in asset turnover indicates an increase r repayment of long term debt
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Teaching example: ROCE

Level 4:

⚫Previous years

⚫ Industry average/competitor

⚫Cost of capital(given): ROCE > Cost of capital*
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Example

⚫Flag & Budget Co

⚫ private sector

⚫ profitability liquidity risk + NFPI?

⚫Specific ratio + ⚫ Previous years

⚫ Industry average/competitor

⚫ Cost of capital(given): ROCE > Cost of capital*

PM SD21&PM July 2020 examiner’s report:

⚫

⚫

⚫
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Thanks for watching…


